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QUESTION 1

Role separation provides checks and balances to improve the security of your event- auditing procedures. Which two
roles must be associated with group IDs to enable role separation? (Choose two.)

A. DBSEC: DB Security Officer

B. AAO: Auditing Analysis Officer

C. DBASO: DB Audit and Security Officer

D. DBAMO: DB Audit Management Officer

E. DBSSO: Database System Security Officer

Correct Answer: BE

QUESTION 2

An Informix server is configured with multiple CPU VPs and poll threads and is experiencing NSF lock errors. What
action should be taken to reduce the network shared file lock contention?

A. Increase the value of MAX_INCOMPLETE_CONNECTIONS.

B. Increase the value of NUMFDSERVERS and add more poll threads.

C. Increase the value of NUMFDSERVERS and increase the number of MSC VPs.

D. Increase the network buffer pool using the IFX_NETBUF_PVTPOOL_SIZE environment variable.

Correct Answer: B

QUESTION 3

Click on the exhibit. Which type of join is occurring?
A. Star Join

B. ANSI Join

C. Index Self-Join

D. Multi Index Join

Correct Answer: A

QUESTION 4

Assuming network connectivity between two Informix instances, which file may need additional configuration to allow
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distributed queries?
A. sglhosts

B. /etc/services

C. SONCONFIG

D. /etc/hosts.equiv

Correct Answer: D

QUESTION 5

Which statement is true for starting Connection Manager?

A. Only user root and informix.

B. Any user of the DBSA group.

C. Any user who is granted privileges to connect to the sysadmin database.

D. Only a user of the DBSA group with privilege to connect to the sysadmin database.

Correct Answer: D
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